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BLUEBELLS SCHOOL INTERNATIONAL
PREBOARD EXAMINATION

CLASS-X DECEMBER 2023-24 Duration — 3 hrs
SUBJECT- Maths Max. Marks- 80
SET - A

SYLLABUS —Real Numbers, Polynomials, Linear Equations, Quadratic Equations,Circles,
Areas Related to circles, Trigonometry, Heights & Distance, Arithmetic Progression,

Coordinate Geometry, Statistics and Probability

INSTRUCTIONS-

1. This question paper was divided into 5 sections A-E

2. Section A has 20 questions carrying 01 mark each

3. Section B has 5 questions carrying 02 marks each\

4. Section C has 6 questions carrying 03 marks each

S. Section D has 4 questions carrying 05 marks each

6. Section E has 3 case study based questions carrying 04 marks each

1. All questions are compulsory. However an internal choice in 2 q’s of S marks,2q’s of 3

marks and 2 q’s of 2 marks has been provided.

8. Draw a neat labelled fig wherever required, use w = 22/7 wherever required if not

specified
SECTION — A
One zero of the quadratic polynomial 2x? -8x-m is 5/2 then the other Zero is
2)2/3 b) -2/3 ¢) 3/2 d)-15/2

a) a=b b)3a=2b c)2a=3b d) ab=6
If 2 and b is coprime numbers then a3 and b3 are
a)coprime b) not coprime c)even d)odd

Ifaline is drawn parallel to the base of the triangle BC of AABC cutting AB at X and

1

1




Y 1S
— the value f
ACatY If AB= 4BX and y(C =2cm then o -
c)6C |
v o es through (13/ 2,0) - The point whic
Q5 A circle 18 drawn with origin as the centre 4SS
1ot lie in the nterior of the circle 1S , (-6’5/2)
a) (-3/4,1) b) (2,7/3) ¢) (5,-1/2) | - . .
Q6  There are 576 DOYS and 448 girl na school that ar¢ to divided 1nto eq
arc
either boys Of girls alone The total number of sections thus formed
d) 21

2)22 |
connected by a WIre.

The tops of the poles of heig
with the horizontal, then the

hts of 20m and 14m are
length of the wire 18

d)14m

makes an angle of 30°

a)8m
Q8 The triangle wh

a)Eq yilateral triangle

0) and (0,4.9) is a/an

ose vertices arc (0,0) (2.1,
b) right angled triangle

d) obtuse angled triangle

c)Isosceles triangle
‘us 8cm. If OA= 17cm

Q9 AB and AC are two tangents to the circle with centre O and rad

then AC= -
a)l5cm d)\]3 53 cm

¢) 20 and 10 d)90 and 80

Q11 The ratio of the out ath 1s 23 : 22. If the path

s 5 metres wide, the diameter of the inner circle 1s

() 55 m b) 110 m
s ) 11 c) 220 m - d)230m
inx - cos x =0 find the value of sintx + cos*x 1s
Va b) V-
4 C)l/ 3 d)3 /
‘ 4
Q13 The number of multiples of 4 lie between 10 and 250 are
1 2)50 b) 60 c) 40
Q14 A wheel makes 1000 revolutions in covering 0.88km d) 30
Tem b)l4cm olem - . The radius of the wheel is
d)28cm

|

, n
y

38. 3
a) 38.808cm b)55.4 cm? c)19.4
, 3
= d)471.4 cm?
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and (2, 2)

In the 2iven fipure
& F K respec
BE and CF )

G CIrele il]:-:m‘

[i\'t‘l_\'_ If AR 1bed n AABC

26 B ~and AC at points D, 3

10 cm, then find (he lengths of AD,

1 OR
n the figure. | .
SUIC, Land m are (WO par
* 'O parallel tangents to a circle wi : . :
A9 LS ‘ . . I['] o | - > M
and B re spectively. Another B centre O, touching the circle at A

- 9Q° at C intersects the line | at D

and m at E. Prove that LDOE

Q29 Prove ' O 33 . ‘ .
: RS2 sin” I tan 6
2 cos® 8—cos 8
Q30  The angles of a triangle are in A.P., the least being half the greatest. Find the 3
angles.
OR
In a certain A.P. the 24th term is twice the 10th term. Prove that the 36th term is twice

the 16th term.

Q31 Inagame the entry fee 1s Rs.S. The game consists of tossing a coin 3 times. [f one or 3

wo heads show Shweta gets entry fee back. If she throws 3 heads she receives double

the entry fee . Otherwise she will loose . For tossing a coin three times, find the

probability that she
1)Loses the entry fee 11) gets double entry fee‘ i) just gets her entry fee



Slil("l‘l()N D | ¥
2 and 2% +5y+1 =0. Determine the coordinales O

' the QU ‘the eguation 3X =Y
)32 Draw the graph ot the equation 3N = - s
( axis. Shade the triangular

\ > ’ YAIN &) ‘ Y A Y
thew vertices of the wiangle formed by these lines and the )

region formed.
OR

ass are made to stand in rows. If 3 students are less 1n a row there

The students of a ¢l
there would be 2 rows more . Find

would be 1 row less. It three students are less in a row

the number of students in the class.

Q33 a) Prove that the line 1s drawn parallel to one side 0 {a triangle to intersect the S

other two sides in distinct points the other two sides are divided in the same ratio

b) In given fig. AABC is right angled at C and DE_LAB. Prove that AABC~AADE

and hence find length of AE and DE.

8 12 cm (

Q34 A bird feeder tube has a diameter of 8cm and height 28cm. The tube has 7 circular 5
openings of 2cm diameter each for the birds to eat. The tube can hold 3kg of bird
food. 1f the birds eat an average of 75gm of food per hour what will be the height

of the food in the tube after 5 hours.

OR
A vessel 1s 1n the form of an inverted cone . Its height 8cm and the radius of the
LG R LA .
top 1s Sem. It 1s filled with water upto the brim. When lead shots of which is a

sphere 1s 0.5cm ar | )
sphere 1s 0.5cm are dropped into the vessel one fourth of the water flows out. Find
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Q35S  Find the missing frequency fi , f> . and f3

in the following frequency distribution when it 5
s given that 1 : {5 = 4:3 and mean =50. Total frequency =100

| Class 0-20 20-40 40-60 60-80 80-100
interval 5
frequency 17 f | 1 f3 19
SECTIONE %
Q36 CASE STUDY BASED I 4

In a potato race, a bucket is placed at the starting point, which is 5 m from the first potato, and
the other potatoes are placed 3 m apart in a straight line. There are ten potatoes in the line

A competitor starts from the bucket, picks up the nearest potato, runs back with it, drops it in the
bucket, runs back to pick up the next potato, runs to the bucket to drop it in, and she continues in
the same way until all the potatoes are in the bucket. What is the total distance the competitor
has to run?

1)Find terms of AP formed in above situation |
i1)What is the total distance the competitor has to run? 2
1ii)Find distance coverd after 4 potato drop in the bucket? 1

Q37 Aanav went to a shopkeeper and asked him to make a pen stand as explained below. Pen stand 4

must be of the cuboidal shape with three conical depressions, which can hold 3 pens. The



dimensions of the cuboidal part must be 20 em x 15 em x 5 cm and the radius and depth of each

conical depression must be 0.6 cm and 2.1em respectively

Based on the above information, answer the following questions.

i)Find the volume of the cuboidal part (1)
1)Find the volume of conical depressions (2)
111) Find the volume of the wood used in the entire stand (1)

Q38 Deepak has a triangular shaped grass field. At the three corners a cow. A bu_ffalo and a horse
was tied separately by means of a rope of 3.5m to graze. The sides of the trlangula_r field are
25m, 24m and 7m respectively.Based on this above information answer the following questions:

1)What is the area of the triangular field ?

11)Area grazed by the cow, buffalo and the horse ?
11)Find the area of the field that is not grazed ?




